Progress Estimate Nu 4			210917-D08 Pace Construction	Company,			22 Original Contract Amount 22 Net Change Order Amoun Current Contract Amount	t \$0.00
Approval Date								By User
June 1, 2022			Generated and	Approved	(and should be considered	d Draft) at	the Project Office Level by	strawt1
June 1, 2022		F	Reviewed and Appro	oved (and	should be considered Dra	ft) at the I	Resident Engineer Level by	abbote1
June 3, 2022				Reviewed	and Approved at the Cent	tral Office	Controllers Office Level by	ramses1
Original Completion	Date	Current Cor	npletion Date	Actu	al Completion Date	%	of Current Contract Amount	Complete
November 1, 202	22	Novemb	er 1, 2022				77.98%	
	Contract	Informational Dat	tes		Milestones			
Date Description	Original	Completion Date	Current Complet	ion Date	No Milestones Exist for	Contract		
Acceptance Date								
Awarded Date	October	6, 2021	October 6, 2021					
Letting Date	Septemb	er 17, 2021	September 17, 20	21				
Notice to Proceed Date	Novemb	er 8, 2021	November 8, 202	1				
Open to Traffic Date								
Work Began Date								

Contract Total Pag	y For Estimate No. 4				
		This Estimate	Previous	To Date	
210917-D08					
	Total Posted Items Pay	\$732,862.66	\$1,215,056.41	\$1,947,919.07	
	Gross Item Adjustments	\$52,334.87	\$322,730.04	\$375,064.91	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$1,537,786.45	\$2,322,983.98	
Contract Total Pag	yable This Estimate:	\$785,197.53			

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5S3340	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$33.750	52.6	\$1,775.25
	0040	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$500.000	1	\$500.00
	0050	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	4	\$24.00
	0100	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	LF	\$2.000	100	\$200.00
	0110	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$20.000	96	\$1,920.00
	0120	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$300.000	1	\$300.00
	0130	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	EA	\$950.000	2	\$1,900.00
	0140	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	EA	\$250.000	1	\$250.00
	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	61,016	\$6,711.76
	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.120	57,238	\$6,868.56
	0170	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.500	100	\$150.00
Project J5	<mark>S3340 - To</mark>	tal					\$20,599.57
J5S3394	0200	2022010	REMOVAL OF IMPROVEMENTS	LS	\$21,267.490	1	\$21,267.49
	0210	2153000	SHAPING SLOPES, CLASS III	100F	\$950.000	21	\$19,950.00



Progress	Estimate I 4		Contract ID 210917-D08 Pay Period S Prime Contractor Pace Construction Company, LLC Pay Period E		022 Net Chan	ge Order Amou	nt \$2,498,000.00 unt \$0.00 nt \$2,498,000.00
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5S3394	0220	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$40.000	326.5	\$13,060.00
	0225	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$70.000	6,012.9	\$420,903.00
	0230	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$59.000	2,424.4	\$143,039.60
	0240	4071005	TACK COAT	GAL	\$2.250	5,983	\$13,461.75
	0390	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$33.500	1,387.5	\$46,481.25
	0410	6061080	MGS END ANCHOR	EA	\$1,300.000	1	\$1,300.00
	0420	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,000.000	9	\$27,000.00
	0430	9029902	MISC.Loop Detector	EA	\$2,900.000	2	\$5,800.00
Project J58	63394 - To	tal					\$712,263.09
Overall - To	otal						\$732,862.66

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3340	0100	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	Material			-100	\$2.00	(\$200.00)
	0100	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	100	\$2.00	\$200.00
	0110	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material			-96	\$20.00	(\$1,920.00)
	0110	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0025) due to user strawt1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	96	\$20.00	\$1,920.00
	0120	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-1	\$300.00	(\$300.00)
	0120	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0026) due to user strawt1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	1	\$300.00	\$300.00
	0130	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Material			-2	\$950.00	(\$1,900.00)
	0130	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0027) due to user strawt1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	2	\$950.00	\$1,900.00
	0140	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE	Material			-1	\$250.00	(\$250.00)



Progre		imate Number 4	Contract ID Prime Contra	210917-D I ctor Pace Cor		Pay Period Start May 16, 2022 Orig npany, LLC Pay Period End June 1, 2022 Net Cur	Change Ord		0.00
Project Number	Line No.	Item Des	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3340			TRIANGLES						
	0140	PAVEMENT M	PREFORMED RMOPLASTIC ARKING, 12 IN E, YIELD LINE TRIANGLES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0028) due to user strawt1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	1	\$250.00	\$250.00
	0150	WATERBORN	E STANDARD E PAVEMENT PAINT, TYPE P BEADS	Material			-61,016	\$0.11	(\$6,711.76)
	0150	WATERBORN	E STANDARD E PAVEMENT PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0029) due to user strawt1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	61,016	\$0.11	\$6,711.76
	0160	WATERBORN	W STANDARD E PAVEMENT PAINT, TYPE P BEADS	Material			-57,238	\$0.12	(\$6,868.56)
	0160	WATERBORN	W STANDARD E PAVEMENT PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0030) due to user strawt1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	57,238	\$0.12	\$6,868.56
	0170	WATERBORN	E STANDARD E PAVEMENT PAINT, TYPE P BEADS	Material			-100	\$1.50	(\$150.00)
	0170	WATERBORN	E STANDARD E PAVEMENT PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0031) due to user strawt1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	100	\$1.50	\$150.00
J5S3394	0220	GRAVEL (A)	OR CRUSHED STONE (B)	Material			-326.5	\$40.00	(\$13,060.00)
	0220	GRAVEL (A)	OR CRUSHED STONE (B)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0032) due to user strawt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	326.5	\$40.00	\$13,060.00
	0225		S PAVEMENT G64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,680.3	\$7.34	\$12,328.70
	0225		S PAVEMENT G64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	947.3	\$7.34	\$6,950.53
	0225		S PAVEMENT G64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,895.3	\$7.34	\$13,906.20
	0225		S PAVEMENT G64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,490	\$7.34	\$10,932.43
	0225		S PAVEMENT G64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	Current Index: 637.5 Base Index: 490 Index Difference = 637.5-490= 147.5 Virgin AC % : 3.20 Tons: 6012.9 Mix ID: BP1 19-46 AC Adjustment = 147.5*6012.9*.032 = 28380.89			\$28,380.89
	0230	MIXT	S PAVEMENT URE PG64-22 CE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,750.3	\$7.34	\$12,842.30
	0230	BITUMINOU	S PAVEMENT	Price		Reference Item Price Adjustment Index	674.1	\$7.34	\$4,946.01



Progre	ss Estir 4	nate Number	Contract ID Prime Contra	210917-D I ctor Pace Cor		Pay Period Start May 16, 2022 Orig npany, LLC Pay Period End June 1, 2022 Net Cur	Change Ord		0.00
Project Number	Line No.	Item Des	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3394			URE PG64-22 E LEVELING)			Adjustment Type applied is FUEL			
	0230	MIXT	S PAVEMENT URE PG64-22 E LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	Current Index: 637.5 Base Index: 490 Index Difference = 637.5-490= 147.5 Virgin AC % : 3.60 Tons: 2424.4 Mix ID: SL22-1 AC Adjustment = 147.5*2424.4*.036 = 12873.56			\$12,873.56
	0240		TACK COAT	Material			-11,623	\$2.25	(\$26,151.75)
	0240		TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0033) due to user strawt1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	11,623	\$2.25	\$26,151.75
	0390		RDRAIL, 8 FT. S, 6 FT 3 IN. SPACING	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$7,100.13)
	0390		RDRAIL, 8 FT. S, 6 FT 3 IN. SPACING	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$4,652.27)
	0390		RDRAIL, 8 FT. S, 6 FT 3 IN. SPACING	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$5,916.78)
	0390		RDRAIL, 8 FT. S, 6 FT 3 IN. SPACING	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$15,214.57)
	0410	MGS E	ND ANCHOR	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$842.00)
	0420		ASHWORTHY 11NAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$2,850.00)
	0420		ASHWORTHY 11NAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$14,250.00)
	0430		MISC.	Material			-2	\$2,900.00	(\$5,800.00)
	0430		MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0034) due to user strawt1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	2	\$2,900.00	\$5,800.00
Total									\$52,334.87



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J5S3340	FAS S402(59)	Resurface	WW, FF	CRAWFORD	on Route WW and on Route FF
J5S3394	FAS S402(54)	Resurface, coldmill and resurface	Various	CRAWFORD	on Rte. 8 to the end of state maintenance, on Rte. UU from I-44 south outer road to the end of state maintenance, on I-44 south outer road from Rte. ZZ to the Crawford County line and Rte. KK in Phelps County from Rte. 8 to the Crawford County line

Totals by Job Numbers

iS3340	This Estimate	Previous	To Date
Posted Item Pay	\$20,599.57	\$511,435.81	\$532,035.38
Gross Item Adjustments	\$0.00	\$86,212.17	\$86,212.17
Gross Item Pay	\$20,599.57	\$597,647.98	\$618,247.55
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
other contract Adjustments	φ0.00	ψ0.00	ψ0.00
			•
is3394	This Estimate	Previous	To Date
			•
\$3394	This Estimate	Previous	To Date
Posted Item Pay	This Estimate \$712,263.09	Previous \$703,620.60	To Date \$1,415,883.69
S3394 Posted Item Pay Gross Item Adjustments	This Estimate \$712,263.09 \$52,334.87	Previous \$703,620.60 \$236,517.87	To Date \$1,415,883.69 \$288,852.74
S3394 Posted Item Pay Gross Item Adjustments Gross Item Pay	This Estimate \$712,263.09 \$52,334.87 \$764,597.96	Previous \$703,620.60 \$236,517.87 \$940,138.47	To Date \$1,415,883.69 \$288,852.74 \$1,704,736.43
S3394 Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	This Estimate \$712,263.09 \$52,334.87 \$764,597.96 \$0.00	Previous \$703,620.60 \$236,517.87 \$940,138.47 \$0.00	To Date \$1,415,883,69 \$288,852.74 \$1,704,736.43 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3394, Item 3105002, Project Item Line Number 0220, Material Set 310500296, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3394, Item 4071005, Project Item Line Number 0240, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6200009, Project Item Line Number 0100, Material Set 620000996, Material 1048PMPFWH - Performed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6200015, Project Item Line Number 0110, Material Set 620001596, Material 1048PMPFWH - Performed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6200021, Project Item Line Number 0120, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6200033, Project Item Line Number 0130, Material Set 620003396, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6200042, Project Item Line Number 0140, Material Set 620004296, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6206000C, Project Item Line Number 0150, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6206000C, Project Item Line Number 0150, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6206001C, Project Item Line Number 0160, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6206001C, Project Item Line Number 0160, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6206108A, Project Item Line Number 0170, Material Set 6206108A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6206108A, Project Item Line Number 0170, Material Set 6206108A96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3340, Item 6206108A, Project Item Line Number 0170, Material Set 6206108A96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Pending QA Material Report.	strawt1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3394, Item 9029902, Project Item Line Number 0430, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Pending QA Material Report.	strawt1	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POSTED To Date (See report
	110.		110.	oode		Quantity	Order	Quantity		Approved Qty		generated date)
210917-D08	J5S3340	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	435.00	0.00	435.00	TONS	99.16	\$33.75	\$3,346.65
		0001	0020	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	6,833.40	0.00	6,833.40	TONS	6,816.70	\$60.30	\$411,047.01
		0001	0030	4071005	TACK COAT	7,656.00	0.00	7,656.00	GAL	5,679.00	\$2.25	\$12,777.75
		0001	0040	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	1.00	\$500.00	\$500.00
		0001	0050	6161005	CONSTRUCTION SIGNS	1,875.00	0.00	1,875.00	SQFT	1,090.00	\$6.00	\$6,540.00
		0001	0060	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	0.00	\$15.00	\$0.00
		0001	0070	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$1,800.00	\$7,200.00
		0001	0080	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	2.00	\$600.00	\$1,200.00
		0001	0090	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$59,000.00	\$59,000.00
		0001	0100	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	100.00	0.00	100.00	LF	100.00	\$2.00	\$200.00
		0001	0110	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	96.00	0.00	96.00	LF	96.00	\$20.00	\$1,920.00
		0001	0120	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	1.00	0.00	1.00	EA	1.00	\$300.00	\$300.00
		0001	0130	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	2.00	\$950.00	\$1,900.00
		0001	0140	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	1.00	0.00	1.00	EA	1.00	\$250.00	\$250.00
		0001	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	76,270.00	0.00	76,270.00	LF	61,016.00	\$0.11	\$6,711.76
		0001	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	71,548.00	0.00	71,548.00	LF	57,238.00	\$0.12	\$6,868.56
		0001	0170	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	100.00	0.00	100.00	LF	100.00	\$1.50	\$150.00
		0001	0180	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	427.00	0.00	427.00	SQYD	427.00	\$5.50	\$2,348.50
		0001	0190	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,119.00	0.00	2,119.00	SQYD	1,777.30	\$5.50	\$9,775.15
	Project J	5S3340 - To	otal Value	Posted to D	ate as of Report Generated Date							\$532,035.38
	J5S3394	0001	0200	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$21,267.49	\$21,267.49
		0001	0210	2153000	SHAPING SLOPES, CLASS III	70.00	0.00	70.00	100F	38.70	\$950.00	\$36,765.00
		0001	0220	3105002	GRAVEL (A) OR CRUSHED STONE (B)	949.00	0.00	949.00	TONS	326.50	\$40.00	\$13,060.0
		0001										
			0225	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	8,128.00	0.00	8,128.00	TONS	7,846.50	\$70.00	\$549,255.00
		0001	0225 0230	4011209 4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1) BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	8,128.00 11,345.70	0.00	8,128.00 11,345.70	TONS	7,846.50	\$70.00 \$59.00	
		0001			BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE							\$656,687.7
			0230	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	11,345.70	0.00	11,345.70	TONS	11,130.30	\$59.00	\$656,687.70 \$29,241.00
		0001	0230 0240	4020520 4071005	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT	11,345.70 18,879.00	0.00	11,345.70 18,879.00	TONS	11,130.30 12,996.00	\$59.00 \$2.25	\$656,687.7(\$29,241.0(\$0.0(
		0001	0230 0240 0250	4020520 4071005 6123000A	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	11,345.70 18,879.00 2.00	0.00	11,345.70 18,879.00 2.00	TONS GAL EA	11,130.30 12,996.00 0.00	\$59.00 \$2.25 \$500.00	\$656,687.7(\$29,241.0) \$0.00 \$6,120.00
		0001 0001 0001	0230 0240 0250 0260	4020520 4071005 6123000A 6161005	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS	11,345.70 18,879.00 2.00 4,263.00	0.00 0.00 0.00 0.00	11,345.70 18,879.00 2.00 4,263.00	TONS GAL EA SQFT	11,130.30 12,996.00 0.00 1,020.00	\$59.00 \$2.25 \$500.00 \$6.00	\$656,687,71 \$29,241.0 \$0.0 \$6,120.0 \$0.0
		0001 0001 0001 0001	0230 0240 0250 0260 0270	4020520 4071005 6123000A 6161005 6161025	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	11,345.70 18,879.00 2.00 4,263.00 100.00	0.00 0.00 0.00 0.00 0.00	11,345.70 18,879.00 2.00 4,263.00 100.00	TONS GAL EA SQFT EA	11,130.30 12,996.00 0.00 1,020.00 0.00	\$59.00 \$2.25 \$500.00 \$6.00 \$18.00	\$656,667,70 \$29,241.01 \$0.01 \$6,120.00 \$0.00 \$12,000.00
		0001 0001 0001 0001 0001	0230 0240 0250 0260 0270 0280	4020520 4071005 6123000A 6161005 6161025 6161098A	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00	0.00 0.00 0.00 0.00 0.00	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00	TONS GAL EA SQFT EA EA	11,130.30 12,996.00 0.00 1,020.00 0.00 4.00 0.00	\$59.00 \$2.25 \$500.00 \$6.00 \$18.00 \$3,000.00	\$656,687,71 \$29,241.01 \$0.01 \$6,120.01 \$0.01 \$12,000.01 \$12,000.01 \$0.01
		0001 0001 0001 0001 0001 0001	0230 0240 0250 0260 0270 0280 0280	4020520 4071005 6123000A 6161005 6161025 6161098A 6162004	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00 16.00	0.00 0.00 0.00 0.00 0.00 0.00	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00 16.00	TONS GAL EA SQFT EA EA	11,130.30 12,996.00 0.00 1,020.00 0.00 4.00 0.00	\$59.00 \$2.25 \$500.00 \$6.00 \$18.00 \$3,000.00 \$1,400.00	\$656,687,71 \$29,241.01 \$0.00 \$6,120.01 \$0.00 \$12,000.01 \$30,000.01
		0001 0001 0001 0001 0001 0001	0230 0240 0250 0260 0270 0280 0280 0290	4020520 4071005 6123000A 6161005 6161025 6161098A 6162004 6181000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN.	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00 16.00 1.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	11,345.70 18,879.00 4,263.00 100.00 4.00 16.00 1.00	TONS GAL EA SQFT EA EA EA	11,130.30 12,996.00 1,020.00 0.00 4.00 0.00 0.25	\$59.00 \$2.25 \$500.00 \$18.00 \$3,000.00 \$1,400.00 \$120,000.00	\$656,687.7 \$29,241.0 \$0.0 \$6,120.0 \$0.0 \$12,000.0 \$0.0 \$30,000.0 \$30,000.0
		0001 0001 0001 0001 0001 0001 0001 000	0230 0240 0250 0260 0270 0280 0280 0290 0300	4020520 4071005 6123000A 6161005 6161025 6161098A 6162004 6181000 6200009	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00 100.00 100.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00	11,345.70 18,879.00 4,263.00 100.00 4.00 100.00 100.00	TONS GAL EA SQFT EA EA LS LF	11,130.30 12,996.00 1,020.00 0.00 4.00 0.00 0.25 0.00	\$59.00 \$2.25 \$500.00 \$6.00 \$3,000.00 \$1,400.00 \$120,000.00 \$6.00	\$656,667,70 \$29,241.01 \$0.01 \$6,120.00 \$12,000.01 \$12,000.01 \$30,000.01 \$30,000.01 \$30,000.01
		0001 0001 0001 0001 0001 0001 0001 000	0230 0240 0250 0260 0270 0280 0280 0300 0310 0310	4020520 4071005 6123000A 6161005 6161025 6161098A 6162004 6181000 6200019	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00 100.00 1.00 100.00 24.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	11,345.70 18,879.00 4,263.00 100.00 4.00 100.00 1.00 1.00 24.00	TONS GAL EA SQFT EA EA LS LS LF	11,130.30 12,996.00 1,020.00 0.00 4.00 0.25 0.00 0.00	\$59.00 \$2.25 \$500.00 \$18.00 \$3,000.00 \$1,400.00 \$120,000.00 \$6.00 \$22.00	\$656,687,71 \$29,241.01 \$0.01 \$6,120.01 \$0.01 \$12,000.01 \$30,000.01 \$30,000.01 \$30,000.01 \$0.01 \$0.01
		0001 0001 0001 0001 0001 0001 0001 000	0230 0240 0250 0260 0270 0280 0290 0300 0310 0320	4020520 4071005 6123000A 6161005 6161025 6161098A 6162004 6181000 6200019 6200015 6200021	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, PREFORMED THERMOPLASTIC PAVEMENT MARKING, PREFORMED THERMOPLASTIC PAVEMENT MARKING,	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00 100.00 100.00 24.00 1.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	11,345.70 18,879.00 4,263.00 100.00 4.00 16.00 1.00 100.00 24.00 1.00	TONS GAL EA SQFT EA EA LS LF LF EA	11,130.30 12,996.00 1,020.00 0.00 4.00 0.25 0.00 0.00 0.00	\$59.00 \$2.25 \$500.00 \$18.00 \$3,000.00 \$1,400.00 \$120,000.00 \$6.00 \$22.00 \$3300.00	\$656,667,70 \$29,241.01 \$0.00 \$6,120.00 \$0.00 \$12,000.00 \$330,000.00 \$30,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
		0001 0001 0001 0001 0001 0001 0001 000	0230 0240 0250 0260 0270 0280 0290 0300 0310 0320 0330 0330	4020520 4071005 6123000A 6161005 6161025 6161098A 6162004 620009 620009 6200015 6200027	BIUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 4 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00 100.00 100.00 24.00 1.00 1.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	11,345.70 18,879.00 4,263.00 100.00 4.00 100.00 100.00 1.00 24.00 1.00	TONS GAL EA EA EA LS LF LF EA	11,130.30 12,996.00 1,020.00 0.00 4.00 0.25 0.00 0.00 0.00 0.00	\$59.00 \$2.25 \$500.00 \$18.00 \$3,000.00 \$1,400.00 \$120,000.00 \$22.00 \$300.00 \$300.00	\$656,687,71 \$29,241.01 \$0.00 \$6,120.00 \$12,000.00 \$12,000.00 \$30,000.01 \$30,000.01 \$0.01 \$0.01 \$0.01 \$0.01 \$0.01 \$0.01
		0001 0001 0001 0001 0001 0001 0001 000	0230 0240 0250 0260 0270 0280 0290 0300 0310 0310 0320 0330 0330 0330	4020520 4071005 6123000A 6161005 6161025 6161098A 6162004 6181000 6200015 6200015 6200021 6200027 6206000C	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STRULTIRT	11,345.70 18,879.00 2.00 4,263.00 100.00 4.00 100.00 100.00 24.00 1.00 1.00 1.00 187,077.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	11,345.70 18,879.00 4,263.00 100.00 4.00 10.00 100.00 24.00 1.00 1.00 1.00	TONS GAL EA SQFT EA EA LS LF EA EA EA	11,130.30 12,996.00 1,020.00 0.00 4.00 0.25 0.00 0.00 0.00 0.00 0.00	\$59.00 \$2.25 \$500.00 \$18.00 \$3,000.00 \$1,400.00 \$120,000.00 \$6.00 \$22.00 \$3300.00 \$300.00 \$600.00	\$656,687,74 \$29,241.00 \$6,120.00 \$6,120.00 \$12,000.00 \$330,000.00 \$330,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
		0001 0001 0001 0001 0001 0001 0001 000	0230 0240 0250 0260 0270 0280 0290 0300 0300 0310 0320 0330 0330 0340	4020520 4071005 6123000A 6161005 6161025 6161098A 6162004 6162004 620009 620009 6200021 6200021 6200027 6206001C	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING) TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	11,345.70 18,879.00 2.00 4,263.00 100.00 100.00 100.00 100.00 24.00 1.00 1.00 1.00 187,077.00 160,216.00	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	11,345.70 18,879.00 4,263.00 100.00 4.00 100.00 100.00 24.00 1.00 1.00 187,077.00 160,216.00	TONS GAL EA SQFT EA EA LS LF EA EA EA EA	11,130.30 12,996.00 1,020.00 0.00 4.00 0.00 0.25 0.00 0.00 0.00 0.00 0.00 0	\$59.00 \$2.25 \$500.00 \$18.00 \$3,000.00 \$1,400.00 \$1,400.00 \$22.00 \$300.00 \$300.00 \$300.00 \$0.11	\$549,255.00 \$656,687.70 \$29,241.00 \$6,120.00 \$6,120.00 \$12,000.00 \$12,000.00 \$30,000.00 \$30,000.00 \$30,000.00 \$0.00

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210917-D08	J5S3394	0010	0400	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$3,200.00	\$12,800.00
		0010	0410	6061080	MGS END ANCHOR	6.00	0.00	6.00	EA	1.00	\$1,300.00	\$1,300.00
		0010	0420	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	24.00	0.00	24.00	EA	17.00	\$3,000.00	\$51,000.00
		0030	0430	9029902	MISC.Loop Detector	2.00	0.00	2.00	EA	2.00	\$2,900.00	\$5,800.00
	Project J	5S3394 - To	tal Value	Posted to D	Date as of Report Generated Date							\$1,547,324.94
210917-D08 Ove	rall - Total	Value Post	ed to Dat	e as of Rep	ort Generated Date							\$2,079,360.32



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work.

Project:	J5S3340											
Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	5/16/22	5/23/22	52.60	TONS	RT WW and FF	0				Includes 20 entrances on WB RT WW between log miles 1.675 and 4.732, and 36 driveways on RT FF (both sides) between log mile 0.261 and 3.864.
0040	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	5/16/22	5/23/22	1.00	EA	RT WW and FF	0				Trailer mounted attenuator used by K.W. Luetkemeyer to paint the centerline and edge lines of RT FF and WW.
0050	6161005	CONSTRUCTION SIGNS	5/16/22	5/23/22	4.00	SQFT	RT WW and FF	0				Painting signs for RT WW and FF: 2 EA - Wet Paint w/ Arrow Pivots
0100	6200009	PREF THERMO PAVMT MARKING, 6 IN WHITE	5/16/22	5/23/22	100.00	LF	RT WW	1.446		1.450		Island outline.
0110	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	5/16/22	5/23/22	12.00	LF	NB RT FF	0.243				R/R crossing stop bar
				5/23/22	12.00	LF	NB RT FF	0.341				R/R crossing symbol bar
				5/23/22	12.00	LF	NB RT FF	0.351				R/R crossing symbol bar
				5/23/22	12.00	LF	SB RT FF	0.209				R/R crossing symbol bar
				5/23/22	12.00	LF	SB RT FF	0.218				R/R crossing symbol bar
				5/23/22	12.00	LF	SB RT FF	0.229				R/R crossing stop bar
				5/23/22	24.00	LF	EB RT WW	1.444				Stop bar at NOR intersection.
0120	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	5/16/22	5/23/22	1.00	EA	EB RT WW	1.451				Turn arrow at NOR intersection.
0130	6200033	PREF THERMO PVMT MARK, R/R XING	5/16/22	5/23/22	1.00	EA	NB RT FF	0.346				R/R crossing symbol
				5/23/22	1.00	EA	SB RT FF	0.213				R/R crossing symbol
0140	6200042	PREF THERMO PVMT MARK, YIELD TRIAN	5/16/22	5/23/22	1.00	EA	EB RT WW	1.446				Yield triangles at NOR intersection.
0150	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	5/16/22	5/23/22	28,365.00	LF	RT WW	1.436		3.790		RT WW both edge lines. This is 80% pay, the remaining 20% will be paid when retroreflectivity is measured and the line item adjustment is made.
				5/23/22	32,651.00	LF	RT FF	0.000		3.865		RT FF both edge lines. This is 80% pay, the remaining 20% will be paid when retroreflectivity is measured and the line item adjustment is made
0160	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	5/16/22	5/23/22	24,587.00	LF	RT WW	1.436		3.790		RT WW centerline. This is 80% pay, the remaining 20% will be paid when retroreflectivity is measured and the line item adjustment is made
				5/23/22	32,651.00	LF	RT FF	0.000		3.865		RT FF centerline. This is 80% pay, the remaining 20% will be paid when retroreflectivity is measured and the line item adjustment is made
0170	6206108A	8 IN. WHITE WATERBORNE PAVEMENT MARKING	5/16/22	5/23/22	100.00	LF	RT WW	1.447		4.774		Island curb paint.

Project: J5S3394

Line Number	ltem Code		Description	DWR Date	DWR Approval Date	Quantity Posted	Units			Location		From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance		Comments	
0200	2022010	REMOVAL OF IMPROV	/EMENTS	5/20/22	5/23/22	0.51	LS	RT UU, RT B	B, RT KK,	I-44 SOR		0				and the I-	des all the guardrail removal 44 SOR. Also, it include the t at are north of the I-44 ramps	hree sections on
				5/31/22	6/1/22	0.49	LS	rte. UU				rt./lt.		rt./lt.				
0210	2153000	000 SHAPING SLOPES, CLASS III		5/16/22	5/23/22	2.30	100F	SB RT BB				3.179		3.207				
				5/17/22	5/23/22	5.00	100F	NB RT UU				0.285				North end	of intersection at NOR and	JU.
				5/18/22	5/23/22	4.30	100F	SB RT UU				0.256				NOR to W	/B I-44 on ramp	
				5/19/22	5/23/22	2.60	100F	NB RT UU				0.256				WB I-44 o	off ramp to NOR	
				5/20/22	5/23/22	6.80	100F	EB I-44 SOR	EB I-44 SOR			0.615		0.717				
0220	3105002	GRAVEL (A) OR CRUS	HED STONE (B)	5/17/22	5/19/22	281.50	TONS	Route KK Lef	t Side from	1 5.580 LM to 5.34	2 LM	5.580		5.342				
				5/24/22	5/25/22	45.00	TONS	Route BB in v	/arious loca	ations for driveway	entrances.	0.000						
0225	4011209	BIT. PAVEMENT MIXTU	URE PG64-22 (BP-1)	5/18/22	5/25/22	1,680.30	TONS	Route KK on	the left side	e from LM 5.342 to	LM 2.903	5.342		2.903				
				5/19/22	5/25/22	947.30	TONS	Route KK on	the right sid	de from LM 5.580	to LM 4.528	5.580		4.528				
				5/23/22	5/25/22	1,895.30	TONS	Route KK left	side from I	LM 2.903 to LM 0.	100	2.903		0.100				
				5/24/22	5/25/22	1,490.00	TONS	Route KK left side from LM		LM 0.000 to LM 0. M 1.528	100 and right	0.000		1.528				
0230	230 4020520 BITUMINOUS PAVEMENT MIXTURE PG6		ENT MIXTURE PG64-22 (SUR	5/16/22	5/19/22	1,750.30	TONS		oad left side	n LM 0.000 to LM (e from LM 0.000 to) - LM 1.000		0.000		2.275				
						674.10	TONS	I-44 Outer Ro side	ad from LN	M 2.275 to LM 1.00	0 on the right	2.275		1.000				
0240	0240 4071005 TACK	TACK COAT		5/16/22	5/19/22	1,324.00	GAL		oad left side	n LM 0.000 to LM (e from LM 0.000 to) - LM 1.000		0.000	2.275					
					5/19/22	931.00	GAL	I-44 Outer roa side and route side	ad from LM e KK from I	2.275 to LM 1.00 LM 5.580 to LM 5.) on the right 342 on the left	2.275		1.000				
				5/18/22	5/25/22	981.00	GAL	Route KK on	the left side	e from LM 5.342 to	LM 2.903	5.342		2.903				
				5/19/22	5/25/22	638.00	GAL	Route KK on the right side from LM 5.580 to LM 4.528			to LM 4.528	5.580		4.528				
				5/23/22	5/25/22	1,128.00	GAL	Route KK left	side from I	LM 2.903 to LM 0.	100	2.903		0.100				
				5/24/22	5/25/22	981.00	GAL	Route KK left side from LM		LM 0.000 to LM 0. M 1.528	100 and right	0.000		1.528				
0390	6061061	MGS GUARDRAIL, 8 F	T. POSTS, 6 FT 3 IN	5/16/22	5/23/22	75.00	LF	SB RT BB				3.179		3.207				
				5/17/22	5/23/22	350.00	LF	NB RT UU				0.285				North end	of intersection at NOR and	JU.
				5/18/22	5/23/22	325.00	LF	SB RT UU				0.256				NOR to W	/B I-44 on ramp	
				5/19/22	5/23/22	112.50	LF	NB RT UU				0.256				WB I-44 o	off ramp to NOR	
				5/20/22	5/23/22	525.00	LF	EB I-44 SOR				0.615		0.717				
0410	6061080	MGS END ANCHOR		5/18/22	5/23/22	1.00	EA	SB RT UU				0.256				NOR to W	/B I-44 on ramp	
0420	6063014	TYPE A CRASHWORT	HY END TERMINAL (MASH)	5/16/22	5/23/22	2.00	EA	SB RT BB				3.179		3.207				
				5/17/22	5/23/22	2.00	EA	NB RT UU				0.285				North end	of intersection at NOR and	JU.
				5/18/22	5/23/22	1.00	EA	SB RT UU				0.256				NOR to W	/B I-44 on ramp	
				5/19/22	5/23/22	2.00	EA	NB RT UU				0.256				WB I-44 o	off ramp to NOR	
				5/20/22	5/23/22	2.00	EA	EB I-44 SOR				0.615		0.717				
0430	9029902	MISC.		5/31/22	6/1/22	2.00	EA	0.006 to 0.01	2 rte. KK			0.006	rt./lt.	0.012	rt./lt.			
e infor	mation b	elow this line are o	details for Construction Si	gns (if a	pplicable	e).												
Project	Line Nu		Total Quantity Posted For D			-	formatio	n	Station	Log Mile	Location	Number of	of Items	SF Each S	ign Sj	oecial Sign	SF Each Special Sign	Total SF to Post
15S3394	0260	May 6, 2022	924			21x15 W PIVETS)	2.19 W	ET PAINT		0.000 to 5.215		1.00		2.19				2.1
					GO20-4	36x18	4.50 PI	LOT CAR		0.000 to 5.215		1.00		4.5				4.



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

Report Generated on June 4, 2022

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable).

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
3394	0260	May 6, 2022	924	FOLLOW ME								
				WO8-11 48x48 16.00 UNEVEN LANES		0.000 to 5.215		10.00	16			16
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		0.000 to 5.215	rte. BB	11.00	16			17
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		0.000 to 5.215		11.00	16			17
			GO20-2 48x24 8.00 END ROAD WORK		0.000 to 5.215		2.00	8			1	
				WO3-4 8x48 16.00 BE PREPARED TO STOP		0.000 to 5.215		7.00	16			11
				GO20-4a 42x30 8.75 PLEASE WAIT FOR PILOT CAR		0.000 to 5.215		2.00	8.75			17.
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		0.000 to 5.215		2.00	10			2
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		0.000 to 5.215		2.00	12			2
				GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		0.000 to 5.215		5.00	1.5			7.
				WO8-12 48x48 16.00 NO CENTER LINE		0.000 to 5.215		6.00	16			9
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		0.000 to 5.215	rte. BB	6.00	16			9
				CONST-7 48x24 8.00 RATE OUR WORK ZONE		0.000 to 5.215		2.00	8			1
	0260 - Total											923.6



Jun 4, 2022

oject	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
3340	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material		3	May 16, 2022	SYSTEM	\$1,571.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user strawt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	May 16, 2022	SYSTEM	(\$1,571.40)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0010 -	- Total						\$0.00	
	0020	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Other Item Adjustment	ACAD	3	May 16, 2022	strawt1	\$36,196.68	Current Index = 637.5 Base Index = 490 Index Difference = 147.5 Tons = 6816.7 Virgin AC% = 3.6 Mix ID = SL22-1 AC Adjustment = 147.5*6816.7*0.036 = \$36196.68
				ACAD - Tota	al			\$36,196.68	
			Other Item A	djustment - T	otal			\$36,196.68	
			Price FUEL		3	May 16, 2022	SYSTEM	\$50,015.49	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$50,015.49	
			Price FUEL -	Total				\$50,015.49	
	0020 -	- Total						\$86,212.17	
	0030	TACK COAT	Г Material		3	May 16, 2022	SYSTEM	\$12,777.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user strawt1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	May 16, 2022	SYSTEM	(\$12,777.75)	
				- Total		1		\$0.00	
			Material - To	tal				\$0.00	
	0030 -	- Total						\$0.00	
1	0100	PREF THERMO PAVMT MARKING, 6 IN							
	0100	PAVMT MARKING, 6 IN	Material		4	Jun 1, 2022	SYSTEM	\$200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100	PAVMT	Material		4		SYSTEM SYSTEM		Estimate Item Adjustment (0024) due to user strawt1 overridding Payment
	0100	PAVMT MARKING, 6 IN	Material	- Total		2022 Jun 1,		\$200.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment
	0100	PAVMT MARKING, 6 IN	Material Material - To			2022 Jun 1,		\$200.00 (\$200.00)	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment
	0100 -	PAVMT MARKING, 6 IN WHITE				2022 Jun 1,		\$200.00 (\$200.00) \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment
		PAVMT MARKING, 6 IN WHITE				2022 Jun 1,		\$200.00 (\$200.00) \$0.00 \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment
	0100 -	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24	Material - To		4	2022 Jun 1, 2022 Jun 1,	SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100 -	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24	Material - To		4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1,	SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$0.00 \$1,920.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
I	0100 -	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24	Material - To	tal - Total	4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1,	SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00)	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100 - 0110	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24	Material - To Material	tal - Total	4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1,	SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00) \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
I	0100 - 0110	PAVMT MARKING, 6 IN WHITE • Total PREF THERMO PVMT MARK, 24 IN WHIT	Material - To Material	tal - Total	4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1,	SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00) \$0.00 \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100 - 0110 0110 -	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24 IN WHIT Total PREF THERMO PVMT MARK,	Material - To Material Material - To	tal - Total	4 4 4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022	SYSTEM SYSTEM SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00) \$0.00 \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100 - 0110 0110 -	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24 IN WHIT Total PREF THERMO PVMT MARK,	Material - To Material Material - To	tal - Total	4 4 4 4 4 4 4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1,	SYSTEM SYSTEM SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00) \$0.00 \$0.00 \$300.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100 - 0110 0110 -	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24 IN WHIT Total PREF THERMO PVMT MARK,	Material - To Material Material - To	tal - Total tal - Total	4 4 4 4 4 4 4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1,	SYSTEM SYSTEM SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00) \$0.00 \$0.00 \$300.00 (\$300.00)	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100 - 0110 0110 - 0120	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24 IN WHIT Total PREF THERMO PVMT MARK,	Material - To Material Material - To Material	tal - Total tal - Total	4 4 4 4 4 4 4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1,	SYSTEM SYSTEM SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00) \$0.00 \$0.00 \$300.00 (\$300.00) \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100 - 0110 0110 - 0120	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24 IN WHIT NWHIT	Material - To Material Material - To Material	tal - Total tal - Total	4 4 4 4 4 4 4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1,	SYSTEM SYSTEM SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00) \$0.00 \$0.00 \$300.00 (\$300.00) \$300.00 \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0100 - 0110 - 0120 -	PAVMT MARKING, 6 IN WHITE Total PREF THERMO PVMT MARK, 24 IN WHIT Total PREF THERMO PVMT MARK, LT/RT ARROW	Material - To Material - To Material - To Material - To	tal - Total tal - Total	4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022 Jun 1, 2022	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$200.00 (\$200.00) \$0.00 \$0.00 \$1,920.00 (\$1,920.00) \$0.00 \$0.00 \$300.00 (\$300.00) \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0024) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.



Jun 4, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3340	0130	PREF THERMO PVMT MARK, R/R XING	Material - To	tal				\$0.00	
	0130 -	Total						\$0.00	
	0140	PREF THERMO PVMT MARK, YIELD TRIAN	Material		4	Jun 1, 2022	SYSTEM	\$250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user strawt1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					4	Jun 1, 2022	SYSTEM	(\$250.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0140 -	Total						\$0.00	
	0150	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		4	Jun 1, 2022	SYSTEM	\$6,711.76	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user strawt1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					4	Jun 1, 2022	SYSTEM	(\$6,711.76)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0150 -	Total						\$0.00	
	0160	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material		4	Jun 1, 2022	SYSTEM	\$6,868.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user strawt1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					4	Jun 1, 2022	SYSTEM	(\$6,868.56)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0160 -	Total						\$0.00	
	0170	8 IN. WHITE WATERBORNE PAVEMENT MARKING	RNE IENT		4	Jun 1, 2022	SYSTEM	\$150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user strawt1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
						Jun 1, 2022	SYSTEM	(\$150.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0170 -	Total						\$0.00	
J5S3340	- Total							\$86,212.17	
J5S3394	0220	GRAVEL (A) OR CRUSHED STONE (B)	Material		4	Jun 1, 2022	SYSTEM	\$13,060.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user strawt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jun 1, 2022	SYSTEM	(\$13,060.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0220 -	Total						\$0.00	
	0225		Other Item Adjustment	ACAD		Jun 1, 2022	strawt1	\$28,380.89	Current Index: 637.5 Base Index: 490 Index Difference = 637.5-490= 147.5 Virgin AC % : 3.20 Tons: 6012.9 Mix ID: BP1 19-46 AC Adjustment = 147.5*6012.9*.032 = 28380.89
				ACAD - Tot				\$28,380.89	
			Other Item A	djustment - T	otal			\$28,380.89	
			Price FUEL		4	Jun 1, 2022	SYSTEM	\$44,117.86	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$44,117.86	
			Price FUEL -	Total				\$44,117.86	
	0225 -	Total						\$72,498.75	



Jun 4, 2022

oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3394	0230	PAVEMENT MIXTURE PG64-22 (SUR	Adjustment	ACAD		2022			Base Index = 490 Index Difference = 147.5 Tons = 8705.9 Virgin AC% = 3.6 Mix ID = SL22-1 AC Adjustment = 147.5*8705.9*0.036 = \$46228.33
					4	Jun 1, 2022	strawt1	\$12,873.56	Current Index: 637.5 Base Index: 490 Index Difference = 637.5-490= 147.5 Virgin AC % : 3.60 Tons: 2424.4 Mix ID: SL22-1 AC Adjustment = 147.5*2424.4*.036 = 12873.56
				ACAD - Tot	al			\$59,101.89	
			Other Item A	djustment - 1	Fotal			\$59,101.89	
			Price FUEL		3	May 16, 2022	SYSTEM	\$63,876.94	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Jun 1, 2022	SYSTEM	\$17,788.31	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$81,665.25	
			Price FUEL -	Total				\$81,665.25	
	0230 -	Total						\$140,767.14	
	0240	TACK COAT	Material		3	May 16, 2022	SYSTEM	\$12,690.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user strawt1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	May 16, 2022	SYSTEM	(\$12,690.00)	
					4	Jun 1, 2022	SYSTEM	\$26,151.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user strawt1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Jun 1, 2022	SYSTEM	(\$26,151.75)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0240 -							\$0.00	
	0390	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile		3	May 16, 2022	SYSTEM	(\$24,292.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4 Jun 1, SYSTEM 2022				(\$32,883.75) (\$57,176.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	Stockpile - '	Total				
			Construction	I Stockpile -	1	Dec 16,	SYSTEM	(\$57,176.25) \$115,253.10	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile		1	2021	STOTEM	φ115,255.10	rayment Estimate ten Aujustment generated Stockpile Hansaction
			311111	- Total				\$115,253.10	
			Construction	Stockpile S	TMI - Total	I		\$115,253.10	
	0390 -	Total						\$58,076.85	
	0410	MGS END ANCHOR	Construction Stockpile		4	Jun 1, 2022	SYSTEM	(\$842.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$842.00)	
			Construction	Stockpile -	Total			(\$842.00)	
			Construction Stockpile STMI		1	Dec 16, 2021	SYSTEM	\$5,052.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$5,052.00	
			Construction	Stockpile S	TMI - Total	I		\$5,052.00 \$4,210.00	
		410 - Total							
	0410 -	TYPE A CRASHWORTHY				May 40	SYSTEM	(\$15,200.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	0410 - 0420	TYPE A CRASHWORTHY	Construction Stockpile		3	May 16, 2022	OTOTEM	(+ · · ·) · · · · · ·)	
		TYPE A			3		SYSTEM	(\$17,100.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		TYPE A CRASHWORTHY END TERMINAL	Stockpile	- Total Stockpile - ⁻	4	2022 Jun 1,			



Jun 4, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3394	0420	TYPE A CRASHWORTHY	Construction Stockpile STMI		1	Dec 16, 2021	SYSTEM	\$45,600.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)		- Total				\$45,600.00	
			Construction	Stockpile S	「MI - Total			\$45,600.00	
	0420 -	Total						\$13,300.00	
	0430	MISC.	Material		4	Jun 1, 2022	SYSTEM	\$5,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user strawt1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					4	Jun 1, 2022	SYSTEM	(\$5,800.00)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0430 -	Total						\$0.00	
J5S3394 -	- Total							\$288,852.74	
Overall -	Total						\$375,064.91		